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SHOW WORK TO RECEIVE CREDIT.
1. What is the specific heat of ethyl alcohol if 700.0 J of heat are required to raise the
temperature of an 80.0-g sample from 30.0°C to 45.0°C?
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2. A 150.0 g sample of metal at 80.0°C is added to 150.0 g of Hy0 at 20.0°C. The temperature

rises to 23.3°C. Assuming that the calorimeter is a perfect insulator, what is the
specific heat of the metal° (Spec1f1c heat of HyO is 4.18 J/g°C.)
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3. How much heat is lost when 35.5 g of iron cools from 429°C to 18.6°C? (The specific heat
of iron 1is 0.450 J/(g - °C).
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4. What is the change in enthalpy when 4.5 moles of carbon monoxide are oxidized to carbon
di ide? :
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5. Calculate the enthalpy change, AH®°, for the combustion of C3Hg (g):

C3He (g) + 9/205(g) — 3CO,(g) + 3H30(1)

JAH® ¢ valuisgin}fJ/mol are_a‘dﬁillizi: C3Hg (g) = 21; CO,(qg) = -394; H,0(l) = -286.
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6. Using the follow1nq data, calculate the heat of reaction for the coal gasification process
2C(s) + 2Hy0(g) ——> CHy(g) + COy(g).

| c(s) + HO(g) —— CO(g) + Hy(g)  AH® = +131.3 kJ
2 CO(g) + HyO(g) — CO,(g) + Hy(g) AH° = -41.2 kJ
b co(g) + 3Hylg) ——> CHy(g) + HyO(g) AH® = -206.1 kJ
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